What is the domain of� EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


For how many values of x does� EMBED Equation.2  ���?��(A)  11	(B)  12	(C)  23	(D)  24	(E)  NOTA


What is the amplitude of � EMBED Equation.2  �����(A)  8	(B)  4	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the period of � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Two men are looking at the top of a vertical tower.  If they are standing 250 meters apart, and one must look up at 38° while the other looks up at 42°, what is the height of the tower, to the nearest meter?��(A)  1383	(B)  1416	(C)  1477	(D)  1512	(E)  NOTA


In triangle ABC, if a=8, b=9, and c=14, what is the measure of angle C to the nearest degree?��(A)  111	(B)  109	(C)  108	(D)  105	(E)  NOTA


����������


In triangle ABC, a=12, b=7, and c=9.  If mutually tangent circles are drawn centered at A, B, and C, what is the area enclosed by the tangency of the three circles, to the nearest hundredth of a square unit?��(A)  2.27	(B)  2.32	(C)  2.18	(D)  2.45	(E)  NOTA


Which of the following statements is equivalent to� EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ����(C) � EMBED Equation.2  ���		(D) � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B)  36	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A plane is flying at 380 kilometers (km) an hour at an altitude of 8 km, and a man is watching it from directly underneath its flight path.  How long after the man had to look up at 20 degrees must the man first look up at 58 degrees, to the nearest second?��(A)  158	(B)  159	(C)  160	(D)  161	(E)  NOTA


What is the area, to the nearest hundredth of a square unit, of triangle ABC if a=8, b=13, and B=70°?��(A)  95.28	(B)  99.91	(C)  100.30	(D)  100.73	(E)  NOTA


A 2 meter tall woman is standing at the foot of a hill which rises at 8 degrees.  There is a vertical tower built 700 meters (measured along the slope of the hill) from her.  The woman must look up at an angle of 29 degrees to see the top of the tower.  What is the tower’s height, to the nearest meter?��(A)  289	(B)  287	(C)  291	(D)  293	(E)  NOTA


A man is standing 327 meters from a vertical tower on level ground, and must look up at 43 degrees to see the top.  What is the height of the tower, to the nearest meter?��(A)  302	(B)  303	(C)  304	(D)  305	(E)  NOTA


Which of the following expressions is equivalent to csc x?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


If� EMBED Equation.2  ���, and x is between � EMBED Equation.2  ��� and � EMBED Equation.2  ���, what is the value of � EMBED Equation.2  ���, to the nearest hundredth?��(A)  .93	(B)  .91	(C)  .92	(D)  .90	(E)  NOTA


In triangle ABC, a=19, b=43, and C=64°.  What is the measure of A to the nearest degree?��(A)  25	(B)  26	(C)  27	(D)  28	(E)  NOTA


In triangle ABC, a=9, b=7, and A=23°.  What is the measure of C to the nearest degree?��(A)  140	(B)  139	(C)  138	(D)  137	(E)  NOTA


Which of the following is equal to � EMBED Equation.2  ��� ?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


If� EMBED Equation.2  ���, and x is between p and 2p, what is the value of� EMBED Equation.2  ��� to the nearest hundredth?��(A)  -.30	(B)  -.32	(C)  -.35	(D)  -.39	(E)  NOTA


A man is trying to row across a half kilometer wide river and arrive at the other side exactly opposite where he started.  If he can row at 9 km/hr in still water, and the river’s current is 6 km/hr, how long will it take him to reach the other side, to the nearest second?��(A)  268	(B)  269	(C)  270	(D)  271	(E)  NOTA


A man is standing 4 km west of a plane’s north-south flight path.  If the plane’s speed is 400 kmph, and it is flying at 10 km, how many seconds after the man must look up at an angle of 30º to see the plane must he look up at 45º?  Answer to the nearest second.��(A)  67	(B)  68	(C)  69	(D)  70	(E)  NOTA


Which of the following is equal to � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the sine of 105°?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  ��� to the nearest hundredth.��(A)  3.54	(B)  3.61	(C)  3.80	(D)  3.92	(E)  NOTA


What is the tangent of the angle in the third quadrant which has a sine of� EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the shape of the polar graph � EMBED Equation.2  ��� ?��(A)  lemniscate	(B)  3-leaf rose	(C)  catenoid	(D)  cardiod	(E)  NOTA


What is the tangent of 330°?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


For what values of x � EMBED Equation.2  ���does � EMBED Equation.2  ���?�	I.  30º	II.  90º�	III.  150º	IV.  194.48º�	V.  355.17º��(A)  I, III	(B)  I, III, V	(C)  I, III, IV, & V�(D)  I, II, III, IV, & V	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A)  0	(B)  � EMBED Equation.2  ���	(C)  1	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the largest possible value of the sum of the sines of the angles in a triangle?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA
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